3— (1) ZBREREDFFIENDEFE

(ppm)
AE TR £ BIE R & ithis T 154 T 164 E174 T 184 Tk 194

Al FFH TP ER £ 0.005 0.005 0.006 0.004 0.004
g™ LB IRE B IR EIEAT £3 0.003 0.003 0.003 0.003 0.003
HHET A IRED 1F 0.003 0.003 0.004 0.002 0.002
S IRELS 1F 0.003 0.003 0.006 0.005 0.004

(=l i=ln * 0.003 0.004 — 0.003 0.004
I\ /N * 0.004 0.004 — 0.004 0.004

¥ ¥ ] 0.005 0.005 0.006 0.005 0.005
FEARTER { 0.003 0.003 0.004 0.004 0.005

EART BILINER E3 0.003 0.004 0.004 0.004 0.004
ER /N 1F 0.003 0.004 0.003 0.003 0.004

B HET fEIR £ 0.004 0.004 0.004 0.003 0.005

3—(2)—BILtEZEZRDELHEODREEI
(ppm)
SRAETETH £ BIE B FR & i T 154 Tk164 174 T 184 T 194

Al FF R E3 0.004 0.003 0.004 0.003 0.003
g™ b BB YR B S h iR B AE P * 0.004 0.004 0.005 0.003 0.002
HHEM PR £ 0.007 0.005 0.005 0.005 0.004
Py PR ELS =* 0.004 0.003 0.002 0.003 0.003
J\BIINERR * 0.004 0.004 — 0.004 0.003

FI¥Fmh FI¥Fm T ] 0.003 0.003 0.003 0.003 0.003
FEAR TR = 0.007 0.006 0.006 0.010 0.010

EART BIL/INER * 0.006 0.007 0.006 0.008 0.006
ER BN = 0.009 0.007 0.008 0.011 0.007

B HET fEIR E3 0.007 0.008 0.008 0.008 0.005




3— () HREERDFIEIENDEFE

(ppm)
AEHETF £ BER FR & Hhig FRR154 FRR164E FER17E FRR184 FRR19FE

Al R (£ 0.013 0.012 0.011 0.011 0.009
ohiE L ERIRE R PR BT * 0.013 0.013 0.013 0.007 0.008
BHET AR IR HL S (£ 0.010 0.009 0.008 0.008 0.008
Py FARER * 0.011 0.010 0.011 0.010 0.009
J\TBIINEAR x 0.009 0.009 — 0.010 0.010

FIf¥Fh FI¥F & 5] 0.010 0.011 0.011 0.009 0.008
EAR TR * 0.014 0.014 0.013 0.014 0.013

EARM BILINVER * 0.011 0.012 0.012 0.013 0.012
ER BN * 0.013 0.013 0.013 0.013 0.012

A H BT [EIE * 0.015 0.014 0.014 0.015 0.011

3—(4) “HRILERDERO8%ENEFELL
(ppm)
AEHETF £ BER FR & Hhig FRR154 FRR164E FER17E FRR184 FRR19FE

Al I (£ 0.030 0.025 0.030 0.027 0.019
ohiE L ERIRE R PR E R * 0.025 0.024 0.026 0.016 0.018
BHET AR IR HL S (£ 0.020 0.018 0.018 0.018 0.017
Py FARER * 0.021 0.018 0.021 0.019 0.018
J\BIINERR * 0.022 0.020 — 0.022 0.020

FIf¥Fh FI¥F % 5] 0.021 0.019 0.021 0.018 0.017
EAR TR * 0.026 0.026 0.026 0.026 0.026

EARM BILINVER £ 0.026 0.027 0.030 0.028 0.028
ER BN * 0.031 0.027 0.026 0.030 0.025

A H BT [EIE £ 0.030 0.030 0.033 0.031 0.026




NIYRL [1[AS W= Y 1Y
3—(B)FEANFRYEDOFEEHEDEFELL
(mg/m°)
AE TR £ BIE R & ithis T 154 T 164 E174 T 184 Tk 194

Al fF™H L (£ 0.014 0.018 0.021 0.020 0.022
g™ LB IRE B IR EIEAT £3 0.025 0.025 0.029 0.027 0.028
HHET A IRED £ 0.018 0.017 0.018 0.026 0.027

E1am S IRELS * 0.023 0.023 0.023 0.021 0.021
J\BB /N * 0.015 0.024 — 0.029 0.026

¥ ¥ ] 0.025 0.021 0.023 0.021 0.020
FEARTER { 0.025 0.023 0.024 0.023 0.023

EART BILINER 53 0.021 0.025 0.026 0.024 0.020
ER RN 1F 0.019 0.023 0.025 0.024 0.023

B HET fEIR £3 0.027 0.023 0.030 0.021 0.023




3—(B)RIEFAFLHI VO BRE1REEOFETEEDEELL

RETETA A RER FA&hig Fri154 Fri164E FRE1745 Fri184 Ilihd‘m(ap;m)
Bl RFTH FH 2R * 0.031 0.034 0.031 0.026 0.031
HiETh L ER IR S iR E TR * 0.030 0.027 0.025 0.019 0.022
HHET 78 &R R B /) * 0.027 0.020 0.025 0.032 0.036
A=k FER IR * 0.029 0.027 0.027 0.023 0.032
FA#Fh FEA#r A ] 0.030 0.027 0.028 0.025 0.028
EAR™ EARTEA * 0.026 0.030 0.032 0.032 0.034
B BT EE * 0.026 0.026 0.027 0.033 0.035

3— (N HALFEAFIE DB D 1FREEA0.120pmZEBA-BHRDBEF L

RETETA A RER FA&hig Fri154 Fri164E FRE1745 Fri184 Ilihd‘m(ap;m)
BIRFTH FHZER * 0 0 0 0 0
HiET L ER B S B2 B FERT * 0 0 0 0 0
HHET FERIREL S * 0 0 0 0 0
f&fam AR R B S 1 0 0 0 0 0
FA#Fh FEA#F R AR ] 0 0 0 0 0
EART EARTRAR * 0 0 0 0 1
B HET EE * 0 0 0 0 0




